Unit 1 Test Review Homework

For exercises 1-6, use AABC. Write the coordinates of each image, then write its algebraic rule.
Show work on separate graph paper, as needed.
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Given the 51m|Iar tnangles shown determme the scale factor and write a similarity statement.
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If APGJ ~ APQR, determine the values of x and y.
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11. If AD = 12and AC =4y~ 36, find y, AC 12. Given mZAOC = 7x—2, m£LAOB=
and DC. 3= NG e 2x + 8, and m£BOC = 3x + 14, find mZAOC.
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13. Solve fora and b.
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14. Solve for a and b.
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15. Find the height of the tree using a
proportion.

17. ATNQ~ ALNP. Find x and y.

18. Given points M(1, 2), A(l, -1), and
T(3, 2},

a. Draw and Label AMAT.

b. Draw the reflection of AMAT across
the line y = -2. Label this AM'A'T.

¢. Draw the reflection of AMAT across
the line x = 4. Label this AM”A”T"”,
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16. Specifically describe a single translation
that has the same effect as the
composition: <6, 5> followed by <-4, 5>.
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19. Findxandy.  Hyi3¢=9x—a0
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20. Find the length of BD given that
AE=4x+6and BD =x+4.Bis the
midpoint of AC and D is the midpoint of CE.
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21. Find the type of the cross section when a plane parallel to B3 %
the base passes through the prism shown. i( ,L \}
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Can the triangles be proven congruent? If so, write the congruence statement and state which
postulate can be used to prove them congruent.

22, F 23. BE bisects AD B_é =~ CE

pBC = ADEC by SAD

24, AD=CD 25. Ris the midpoint of QS
PQ = PS
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